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3. What is Educational Sociology? Discuss
briefly the relationship between education
4+7=11

and sociology.

Or
Discuss about the structural functionalism
as a theory of educational sociology. 11
4. Describe the ways to establish peace through
education in our society. 10
‘ Or
What do you mean by socialisation? Mention
the characteristics of socialisation. 3+7=10
5. “Education as an instrument of social
change.” Explain. 10
Or
What is Human Resource? Discuss the
functions of Human Resource Development.
3+7=10
6. What is democracy? Wwrite the differences
4+7=11

Or

Write about the education for secular societ'y.
. jeg 1N
What are the problems of difficiiees 5+6=11

secular educational system?
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7. What do you mean by socja] group? What are
the main characteristics of social group?

3+7=10
Or
What is equality? Write

about the importance
of equality in educatio

n. 3+7=10
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